

Aguostina - Vin Stephanie . C.
 COLLEGE = ENGINEERING
 DEPARTMENT = ELECT-ELECT
 MATRIC NO : 191ENG041003
 COURSE CODE : MATH04

$$2) y = \frac{3e^k \sin 2k}{k^{5/2}}$$

find the log of both sides
 $\ln y = \ln 3e^k + \ln \sin 2k - \ln k^{5/2}$

Differentiate with respect to k

$$\frac{d}{dk} (\ln y) = \frac{d(3e^k)}{dk} + \frac{d(\ln \sin 2k)}{dk} - \frac{d(\ln k^{5/2})}{dk}$$

$$\frac{1}{y} \cdot \frac{dy}{dk} = \frac{1}{3e^k} (3e^k) + \frac{1}{\sin 2k} (\cos 2k) - \frac{1}{k^{5/2}} \left[\frac{5}{2} k^{3/2} \right]$$

$$\frac{1}{y} \cdot \frac{dy}{dk} = \frac{3e^k}{3e^k} + \frac{\cos 2k}{\sin 2k} - \frac{5/2 k^{3/2}}{k^{5/2}}$$

multiply both sides by y

$$\frac{dy}{dk} = y \left[1 + \frac{\cos 2k}{\sin 2k} - \frac{5/2 k^{3/2}}{k^{5/2}} \right]$$

$$\frac{dy}{dk} = \frac{3e^k \sin 2k}{k^{5/2}} \left[1 + \frac{\cos 2k}{\sin 2k} - \frac{5/2 k^{3/2}}{k^{5/2}} \right]$$

$$1) y = \frac{[(x+1)^2 (x-2)^{1/2}]}{[(2x-1) (x-3)^{4/3}]} \rightarrow u$$

$$\rightarrow v$$

Quotient Rule

$$\frac{dy}{dx} = \frac{v \frac{du}{dx} - u \frac{dv}{dx}}{v^2}$$

$$\text{let } v = (2x-1) (x-3)^{4/3}$$

$$\frac{dv}{dx} = \text{let } m = 2x-1 \quad \frac{dm}{dx} = 2$$

$$n = (x-3)^{4/3} \quad \frac{dn}{dx} = \frac{4}{3} (x-3)^{1/3}$$

$$\frac{dv}{dx} = m \frac{dn}{dx} + n \frac{dm}{dx}$$

$$\frac{dv}{dx} = \frac{4}{3} (2x-1) (x-3)^{1/3} + 2 (x-3)^{4/3}$$

$$\text{let } u = (x+1)^2 (x-2)^{1/2}$$

$$\frac{du}{dx} \quad \text{let } a = (x+1)^2 \quad \frac{da}{dx} = 2(x+1)$$

$$b = (x-2)^{1/2} \quad \frac{db}{dx} = \frac{1}{2} (x-2)^{-1/2}$$

$$\frac{d^2u}{dx^2} = a \frac{d^2b}{dx^2} + b \frac{d^2a}{dx^2}$$

$$= \frac{1}{2} (x-2)(x+1)^2 + 2(x+1)(x-2)^{1/2}$$

$$dx = \frac{V \frac{d^2u}{dx^2} - U \frac{d^2V}{dx^2}}{V^2}$$

$$\frac{[(2x-1)(x-3)^{4/3}] [\frac{1}{2}(x-2)(x+1)^2 + 2(x+1)(x-2)^{1/2}] - [C(x+1)^2(x-2)^{1/2}] \cdot [4/3(2x-1)(x-3) + 2(x-3)^{1/3}]}{[C(2x-1)(x-3)^{4/3}]}$$

$$3) \int 4 \sec^2(3m+1) dm$$

$$\text{let } u = 3m+1$$

$$\frac{du}{dm} = 3 \therefore dm = \frac{du}{3}$$

$$\int 4 \sec^2 u \cdot \frac{du}{3}$$

$$\frac{4}{3} \int \sec^2 u \cdot du$$

$$\frac{4}{3} [\tan u] + C$$

$$\frac{4}{3} [\tan(3m+1)] + C$$

$$4) \int 2t (3t^2-1)^{1/2} dt$$

$$u = 3t^2-1$$

$$\frac{du}{dt} = 6t$$

$$6t = \frac{du}{dt}$$

$$\int 3t \cdot [Cu]^{1/2} \frac{du}{6t}$$

$$\int \frac{1}{2} \times u^{1/2} du$$

$$\frac{1}{2} \int u^{1/2} du$$

$$\frac{1}{2} \times \frac{u^{1/2+1}}{1/2+1} + C$$

$$= \frac{1}{2} \times \frac{2}{3} u^{3/2} + C$$

$$= \frac{2}{6} u^{3/2} + C$$

$$\frac{1}{3} (3t^2-1)^{3/2} + C$$

5)

$$\int \frac{2x}{(4x^2-1)^{1/2}} dx$$

$$= \int 2x (4x^2-1)^{-1/2} dx$$

$$\text{let } u = 4x^2-1$$

$$\frac{du}{dx} = 8x$$

$$dx = \frac{du}{8x}$$

$$= \int 2x \cdot (u)^{-1/2} \cdot \frac{du}{8x}$$

$$= \frac{1}{4} \int u^{-1/2} du$$

$$= \frac{1}{4} \times \frac{u^{-1/2+1}}{-1/2+1}$$

$$= \frac{1}{4} \times \frac{u^{1/2}}{1/2}$$

$$= \frac{1}{4} \times 2 u^{1/2}$$

$$= \frac{1}{2} u^{1/2}$$

$$= \frac{1}{2} (4x^2-1)^{1/2}$$